Test 10
Part I Writing (30 minutes)

注意：此部分试题在答题卡1上。
Directions: For this part, you are allowed thirty　minutes to write a letter to your American friend　Lawrence, to introduce Spring Festival in China and　invite him to join you to spend this Spring Festival.　Suppose you are Yuan Chao. You should write at least120 words following the suggestions given below inChinese:
1. 表达你对Lawrence的想念之情；
2. 介绍中国的春节；
3. 邀请Lawrence和你们一起过春节。

A Letter to Lawrence
December 5, 2007
Dear Lawrence,
Yours,
Yuan Chao
Part II       Reading Comprehension (Skimming and Scanning) (15 minutes)

Directions: In this part, you will have 15 minutes to go over the passage quickly and answer the questions on Answer Sheet 1.
For questions 1—7, mark

Y (for YES) if the statement agrees with the information given in the passage;

N (for NO) if the statement contradicts the information given in the passage;

NG (for NOT GIVEN) if the information is not given in the passage.

For questions 8—10, complete the sentences with the information given in the passage.

Dieting

Dieting is one of those things that are completely integrated into American culture. On any given day, a huge portion of the U.S. population is “on a diet” and “counting calories” in one way or another. 

Why is Weight Gain Prevalent?

Have you wondered why, for so many people, weight gain seems to be a fact of life? It’s because the human body is too efficient! It just does not take that much energy to maintain the human body at rest; and when exercising, the human body is amazingly frugal (节省的) when it comes to turning food into motion. 

At rest, the human body burns only about 12 calories per pound of body weight per day (26 calories per kilogram). That means that if you weigh 150 pounds (68 kg), your body uses only about:

150 x 12 = 1,800 calories are used to do everything you need to stay live;

They keep your heart beating and lungs breathing. 

They keep your internal organs operating properly. 

They keep your brain running. 

They keep your body warm. 

In motion, the human body also uses energy very efficiently. For example, a person running a marathon burns only about 2,600 calories. In other words, you burn only about 100 calories per mile (about 62 calories per km) when you are running. 

The 1,800 calories that a typical person at rest needs per day is just not that many. Convenient food often takes the lead in our daily diets. In a typical day someone might consume something like this:

You might have two Pop Tarts for breakfast, 

Then hit Pizza Hut for lunch, 

Grab some SnackWell’s and a cola for a snack, 

Head for McDonald’s for dinner

And top it off with some potato chips while watching TV. 

You can see how the number of calories coming in can easily reach 3,000, 4,000 or 5,000 per day without any effort at all. That’s the problem. 

Your body, it turns out, is extremely efficient at capturing and storing excess calories. Whenever your body finds that it has excess calories on hand, it converts them to fat and saves them for a rainy day. It only takes 3,500 excess calories to create 1 pound of new fat on your body. 

To lose 1 pound of fat, what you have to do is burn off 3,500 calories. That is, over a period of time, you have to consume 3,500 calories less than your body needs. The only way to lose fat is to consume fewer calories per day than your body needs. For every 3,500 calories that your body takes from its fat reserves, you lose 1 pound (0.45kg) of body fat. You can create the deficit either by monitoring and restricting your intake of calories, or by exercising, or both. 

The idea behind most diet is simply to help you somehow lower the number of calories that you consume each day. That’s all they do. 

The reason why most diets tend not to work for very long is because they are not sustainable. A person gains weight because he or she consumes more calories per day than needed. The diet creates a temporary deficit. When the diet ends, the person goes back to normal eating and the weight comes back. What is needed instead is a sustainable diet --- a food consumption and exercise plan --- that lets you live a normal life and eat normal foods in a normal way. 

How to Build a Sustainable diet

The first step to building a sustainable diet is to start counting the calories that you consume in a day so that you become conscious of two things:

You need to understand exactly how many calories you are eating on a “normal” day. 

You need to realize where each calorie comes from --- you need to build a calorie database in your brain so that you know, whenever you eat something, just how many calories it is supplying. 

The second step is to figure out how many calories you need in a day. You can use the “12 calories per pound” rule. 

Pick your “ideal weight” --- the weight that you would like to maintain. Then calculate how many calories a day you can consume to maintain that weight. 

The third step is to compare the two numbers --- You may be startled by the difference between the “number of calories you need” and “the number of calories that you take in” in a day. 

The fourth step is to figure out how to bring the two numbers in line. You have to watch and count everything you eat and drink every day and stick to your daily limit. 

The fifth step might be to add exercise to the mix so that you can raise the number of calories you can consume per day. Burning 250 or 500 calories per day through exercise can make a big difference.

In an effort to reduce the number of calories you take in per day, here are several strategies that you might find effective:

Be conscious of every calorie you consume, and keep a daily journal. Stick an index card in your pocket each day and write down everything you eat and drink. 

Eliminate all calories that come in through drinking. In other words, drink water. 

Eliminate white sugar. 

Similarly, try eliminating all fried foods. 

Try to replace high-density foods with low-density foods. 

Try wearing form-fitting clothes instead of sweats. The tight clothing acts as a subliminal reminder of what you are trying to accomplish. 

If you follow these guidelines and, through diet and exercise, keep the number of calories you consume below the number of calories needed, you will lose fat and maintain a consistent weight. 

How to Build an Exercise Plan 

Exercise is one tool you have to control your weight because exercise is a way to increase the number of calories that you burn in day. One way to make the most of exercise is to integrate some form of exercise into your daily routine. Here are several examples: 

Try to find some type of exercise that you enjoy (or at least can tolerate) and do it every day for 30 minutes, 60 minutes or more. 

Try to fit micro-exercises into your daily life. 

Put a set of weights at your desk and use them three or four times during the day, as you think or talk on the phone. 

Find an exercise partner. 

Try to exercise every day. 

1. The passage is mainly about how to lose fat and maintain a consistent weight. 

2. Many people gain weight due to the fact that the human body is highly efficient. 

3. If you take in just 3,500 extra calories, then you will gain a pound of fat. 

4. The majority of diets often have a lasting effect on people as they are sustainable. 

5. It is not very easy to lose weight as the psychology of food and eating is very powerful. 

6. With a view to cutting calories, you should refuse both the potato chips and fried chicken. 

7. Micro-exercise can do nothing to your weight-loss.  

8. Running a mile you may burn                                                 .

9. To maintain a steady weight, you need to _______________________________________.

10. Ideal weight refers to the weight ______________________________________________.
Part III
    Listening Comprehension
 (35 minutes)

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversations and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet 2 with a single line through the center.

11.   A) The man deserves a “D”.

B) Trying hard is more important than results.

C) It’s unfair for the man to have a “D”.

D) The man should at least get a “D”.

12.  A) Because it’s cheaper to take a train.

B) Because she would like to enjoy some sightseeing.

C) Because she doesn’t mind long hours’ traveling.

D) Because only train goes to Manchester.

13.  A) 12:00.


B) 12:30.


C) 12:40.


D) 12:50.

14.  A) A porter.


B) A passenger.

C) An airhostess.


D) A police officer.

15.  A) The woman is fired.
B) The woman didn’t know anything about her current job before choosing it.

C) The woman likes her current job.

D) The woman likes hunting better than her job.

16.  A) Selecting a gift.



B) Buying a hat.

C) Discussing colors.


D) Visiting relatives.

17.   A) At a railway station.


B) At a police station.

C) At a bank.



D) At an airport.

18.   A) The woman is too careful with herself.

B) Nightlife is very dangerous.

C) The woman is never careful with herself.

D) The woman should be more careful.

Questions 19 to 21 are based on the longer conversation you have just heard.

19. A) Maria’s teacher.                    B) Maria’s fault.

      C) Maria’s performance.            D) Maria’s meanings.

20. A) Husband and wife.                B) Father and teacher. 

      C) Mother and teacher.             D) Father and daughter.

21. A) Father.                                  B) Teacher.

      C) Mother.                                 D) Maria.

Questions 22 to 25 are based on the longer conversation you have just heard.

22. A) At the dormitory.
                              B) At the recreational center.

      C) In the classroom.                                 D) At the canteen.

23. A) Because it’s a card game.                    B) Because it helps him to relax.

      C) Because it requires strategies.              D) Because it helps him to be cleverer.

24. A) Count the points.             
                 B) Sleep.

      C) Look at others’ cards.                           D) Bring food for everyone else. 

25. A) Because she doesn’t like the game.      B) Because she is busy with her studies.

      C) Because she is a dummy.                      D) Because she is hungry at the moment.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter on the Answer Sheet 2 with a single line through the centre.
Passage One

Questions 26 to 28 are based on the passage you have just heard.

26.  A) In 1901 in Atlanta.                       B) In 1901 in Askin's. 

C) In 1901 in Arizona.                     D) In 1925 in Milestone.

27.  A) When the owner was painting his room for "Milestone Motor Hotel", he thought of it.

B) It stands for "many hotel rooms" in Milestone Motor Hotel.

C) The owner disliked the name of "Milestone Motor Hotel" and changed it.

D) The owner shortened the full name of the hotel for lack of space on the signboard.

28.  A) Radio or TV.                               B) Telephone.

C) Computer.                                    D) Swimming pool.

Passage Two

Questions 29 to 31 are based on the passage you have just heard.

29.   A) Over 30 million men.                          B) Over 30 million middle-aged men. 

C) Those energetic Americans.                D) Americans of both sexes and all ages.

30.  A) Because of their strong desire for good health.

B) Because of their love for hobbies and pastimes.

C) Because of their fear of heart disease.

D) Because of their extra energy.

31.   A) It was rising.                                  B) It was lowering. 

C) It remained unchanged.                 D) It was fluctuating.

Passage Three

Questions 32 to 35 are based on the passage you have just heard.

32. A) 215,000.                                                      B) Less than 250,000. 

C) More than 350,000.                                    D) About 300,000.

33. A) Poor health condition of the children.        B) Poor quality of village schools. 

C) Religious differences.                               D) Different lifestyle or faith.

34.  A) They lack opportunities to interact with children of their age. 

B) Their parents are not qualified instructors.

C) They cannot win honor in such an environment.

D) They make no genuine friends. 

35)  A) Positive.                                                   B) Negative. 

C) Neutral.                                                   D) Indifferent.

Section C

Directions: In this section, you will hear a passage three times. When the passage is read for the first time, you should listen carefully for its general idea. Then listen to the passage again. When the passage is read for the second time, you are required to fill in the blanks numbered from 36 to 43 with the exact words you have just heard. For the blanks numbered from 44 to 46 you are required to fill in the missing information. You can either use the exact words you have just heard or write down the main points in your own words. Finally, when the passage is read for the third time, you should check what you have written.

The automobile has many advantages. Above all, it (36)______ people freedom to go where they want when they want to. To most people, cars are also personal (37)______ machines that serve as (38)______ of power, success, speed, excitement, and (39)______. In (40)______, much of the world' s economy is built on producing (41)______ and supplying roads, services, and repairs of vehicles. Half of the world' s paychecks are auto-related.
In spite of their advantages, motor vehicles have many harmful effects on human lives and on air, water, land and wildlife (42)______. Though we  tend to deny it, (43)______ in cars is one of the most dangerous things we do in our daily lives.

Every year, (44)________________________________________, and they injure or permanently disable ten million more. (45)_________________________________________-.
Motor vehicles are the largest sources of air pollution, producing a haze of smog over the world' s cities. (46)______________________________________________________.
Part IV
     Reading Comprehension  (Reading in Depth)     (25 minutes)

Section A

Directions: In this section, there is a passage with ten blanks. You are required to select one word for each blank from a list of choices given in a word bank following the passage. Read the passage through carefully before making your choices. Each choice in the bank is identified by a letter. Please mark the corresponding letter for each item on Answer Sheet 2 with a single line through the center. You may not use any of the words in the bank more than once. 

Questions 47 to 56 are based on the following passage.

Langston Hughes, known as the poet voice of African Americans, was one of the most important writers of the Harlem Renaissance. He was born in 1902. His parents separated when he was little. Langston grew up with his grandmother who told him stories about their family’s fight against racial 47. He developed a love of reading books as a way to deal with loneliness and a feeling of rejection from his parents. His love for reading grew into a desire to 48.

Hughes had worked many different jobs, but wished to make a living as a writer. He wrote many different short stories that were published in magazines. In these, he was able to discuss ideas 49 to black pride, racism and other issues of black life. 

In 1932, Hughes traveled to the Soviet Union. He became an active supporter of 50. He believed communism was 51 to minorities. During this time, his writing also became more aggressive. Several of his poems expressed support for social and political 52. 

Later, his writings began to 53 the unfairness of life in America. He wrote about people whose lives were 54 by racism and sexual conflicts, violence in the southern United States, Harlem street life, poverty, racism, hunger and hopelessness. 

Hughes died of cancer in 1967 in Harlem, New York. His home on 127th street has been made a national 55. Experts say Langston Hughes helped to change the sound of American literature. They say he wrote poems the world will 56 know. 

	A) always

B) irrelevant

C) capitalism

D) fairer

E) consequently

F) write

G) related

H) injustice
	I) protests

J) fairness 

K) affected

L) unacceptable

M) examine

N) landmark

O) communism




Section B

Directions: There are 2 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C) and D). You should decide on the best choice and mark the corresponding letter on Answer Sheet 2 with a single line through the centre.

Passage One

Questions 57 to 61 are based on the following passage.

Passage 1

When I was about six years old, my mother came home one day and found that I had collected half a dozen babies of the neighborhood --- all of them too young to walk --- and had them sitting before me on the floor while I was teaching them to wave their arms. When she asked the explanation of this, I informed her that it was my school of dance. She was amused, and placing herself at the piano, she began to play for me. This school continued and became very popular. Later on, little girls of the neighborhood came and their parents paid me a small sum to teach them. This was the beginning of what afterwards proved a very lucrative occupation.

My mother took me to a famous ballet teacher, but his lessons did not please me. When the teacher told me to stand on my toes I asked him why, and when he replied “Because it is beautiful,” I said that it was ugly and against nature and after the third lesson I left his class, never to return. This stiff and commonplace gymnastics which he called dancing only disturbed my dream. I dreamed of a different dance. I did not know just what it would be, but I was feeling out towards an invisible world into which I guessed I might enter if I found the key.

My art was already in me when I was a little girl, and it was owing to the heroic and adventurous spirit of my mother that it was not stifled (扼杀). I believed that whatever the child is going to do in life should be begun when it is very young. I wonder how many parents realize that by the so-called education they are giving their children, they are only driving them into the commonplace, and depriving them of any chance of doing anything beautiful or original.

57. The attitude of the narrator’s mother toward her school of dance was one of ______. 

A) despise 


B) contempt

C) support 

D) indifference

58. The word “lucrative” in the last sentence of the first paragraph most probably means ______.

A) highly-demanding  
B) money-making  
C) painstaking      
D) eye-catching

59. The narrator thought that ballet was ______.

A) the most graceful dance






B) stiff, ugly and unnatural

C) a dance that she had dreamed of



D) an invisible world into which she guessed she might enter

60. According to the narrator, she owed her success in art to ______.

A) the good education her parents gave her

B) the support of her understanding and adventurous mother

C) her inborn talent and her hard work

D) her hard work and her ballet teacher

61. The central idea of the passage is that ______.

A) parents should try to discover the natural gift in their children and help to develop it while they are young

B) the so-called good education parents give their children only drives them into the commonplace and deprives them of any chance of doing anything original 

C) mothers should be heroic and adventurous

D) ballet is no good as a form of dance

Passage Two 

Questions 62 to 66 are based on the following passage.

The ordinary family in colonial North America was primarily concerned with simple physical survival and beyond that, its own economic prosperity. Thus, children were valued in terms of their productivity, and they assumed the role of producer quite early. Until they fulfilled this role, their position in the structure of the family was one of subordination, and their psychological needs and capacities received little consideration.

As the society became more complicated, the status of children in the family and in the society became more important. In the complex, technological society that the United States has become, each member must fulfill a number of personal and occupational roles and be in constant contact with a great many other members. Consequently, viewing children as potentially acceptable and necessarily multifaceted (多方面的) members of society means that they are regarded more as people in their own right than as utilitarian organisms. This acceptance of children as equal participants in the contemporary family is reflected in the variety of statutes protecting the rights of children and in the social and public welfare programs devoted especially to their well-being.

This new view of children and the increasing contact between the members of society has also resulted in a surge of interest in child-rearing techniques. People today spend a considerable portion of their time consulting the proper way to bring up children. It is now possible to affect details of the socialization of another person’s child by spreading the gospel(信条) of current and fashionable theories and methods of child-rearing.

The socialization of the contemporary child in the United States is a two-way communication between parent and child rather than a one-way, parent-to-child training program. As a consequence, socializing children and living with them over a long period of time is for parents a mixture of pleasure, satisfaction, and problems. 

62. It can be inferred about formal schooling in colonial North America that_________________________.

A) it was generally required by law

B) it was considered relatively unimportant

C) it was highly disciplined

D) it was improperly administered

63. Which of the following causes the changes in the role of the child in the United States?

A) The growing number of single parent families.

B) The growing complexity of the children’s psychological needs.

C) An advancement in technology.

D) A decrease in the children’s intellectual capacities.

64. According to the passage parents have become increasingly interested in ___________.

A)
their children’s future jobs

B) having smaller families

C)
adoption for childless couples

D) child-rearing

65. The clause “ the socialization of the contemporary child in the U.S. is a two-way communication” (Para. 4) means ________________________________.

A) both parents play a chief role in the contemporary child-rearing process

B) there are two current methods of socializing children

C) socialization is a process shared by parents and their children

D) raising children is both pleasurable and troublesome

66. The best title for the passage would be ________________________.

A) the Child as a Utilitarian Organism

B) the Development of Cultural Values

C) the Children of Colonial North America

D) the Status of Children in the U.S. Society

Part V         Cloze      (15 minutes)

Directions: There  are 20 blanks in the following passage. For each blank there are four choices marked A), B), C) and D) under the passage. You should choose the ONE that best fits into the passage. Then mark the corresponding letter on Answer Sheet 2 with a single line through the center. 

Today, most countries in the world have canals. Many countries have built canals near the coast, and parallel  67  the coast. Even in the twentieth century, goods can be moved more cheaply by boat than by any other   68  of transport. These  69  make it possible for boats to travel  70  ports along the coast without being  71  to the dangers of the open. Some canals, such as the Suez and the Panama, save ships weeks of time by making their  72  a thousand miles shorter. Other canals permit boats to reach cities that are not  73  on the coast, still other canals  74  lands where there is too much water, help to  75  fields where there is not enough water, and  76  water power for factories and mills. The size of a canal  77  on the kind of boats going through it. The canal must be wide enough to permit two of the largest boats using it to  78  each other easily. It must be deep enough to leave about two feet of water  79  the keel (龙骨) of the largest boat using the canal. When the planet Mars was first  80  through a telescope, people saw that the round disk of the planet was crossed by a _81   of strange blue-green lines. These were called “canals”  82  they looked the same as canals on earth  83 are viewed from an airplane. However, scientists are now  84  that the Martian phenomena are really not canals. The photographs  85  from space-ships have helped us to  86  the truth about the Martian “canals”.

67.
A) off 


B) with 


C) to 


D) by

68.
A) way 


B) means 

C) method

D) approach

69.
A) waterways 

B) waterfronts 

C) channels 

D) paths

70.
A) among 

B) between 

C) in 


D) to

71.
A) revealed 

B) exposed 

C) opened 

D) shown

72.
A) trip 


B) journey 

C) voyage 

D) route

73.
A) lain


B) stationed 

C) set 


D) located

74.
A) escape 

B) drain 

C) dry 


D) leak

75.
A) water 

B) wet 


C) soak 


D) irrigate

76.
A) furnish 

B) afford 

C) offer 


D) give

77.
A) focuses 

B) bases 

C) depends 

D) takes

78.
A) cross 

B) pass 


C) move 

D) advance

79.
A) down 

B) below 

C) beneath 

D) off

80.
A) studied 

B) researched 

C) surveyed 

D) observed

81.
A) few 


B) number 

C) deal 


D) supply

82.
A) although 

B) because 

C) so 


D) if

83.
A) that 


B) where 

C) when 

D) as

84.
A) exact 

B) definite 

C) certain 
   
D) decisive

85.
A) held 


B) taken 

C) got 


D) developed

86.
A) find 


B) expose 

C) uncover 

D) discover

Part VI

Translation

 (5 minutes)

Directions: Complete the sentences on Answer Sheet 2 by translating into English the Chinese given in brackets. 

87. A lot of people nowadays have muscular problems in the neck, the shoulders and the back ___________________________________(主要是由于工作中的压力和紧张造成的).

88. More than 3 million children have health insurance now, and ____________________(超过250万的家庭已经摆脱贫困).

89. _____________________________________________ (除主席之外的所有董事会成员都投票赞成我的建议)to set up a branch office in the suburbs.

90. The emergence of e-commerce and the fast-growing Internet economy are __________(为中国的国内外贸易提供了新的增长机遇).

91. The population of elderly people is increasing rapidly because people are living longer than before._____________________________________________(发达国家尤为如此).　　
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